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H TICLO53-CLIENT = TOOO-MANDT

—

TOO0O
MANDT [CLNT (3)]

H_TICLO53-VERSION = TICLOO3-VERSION  0-N

TICLOO3
CLIENT [CLNT (3)]
CLTYPE [CHAR (4)]
GENERAT [NUMC (5)]
VERSION [NUMC (5)]

TICLOOS

CLIENT [CLNT (3)]

CLTYPE [CHAR (4)]

GENERAT [NUMC (5)]

VERSION [NUMC (5)]

SUBCLTYPE [CHAR (4)]

TICL053-SUBCLTYPE = TICL005-SUBCLTYPE o1
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H TICL053-CLTYPE = TICLO11-CLTYPE
H TICLO53-GENERAT = TICLO11-VERSION 0.
I -0..N
H TICLO53-RESTYPE = TICL020-RESTYPE
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CLIENT [CLNT (3)]

VERSION [NUMC (5)]
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CLIENT [CLNT (3)]
RESTYPE [CHAR (2)]




